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J| 2,000 2,000 0
& 90,572 91,537 A 965
Al 2,066,372 2,080,450 A 14,078
DEE stSdA JIsXE A 1,300,224 1,277,345 22,879
= 360,900 345,900 15,000
< 35,572 36,537 A 965
Al 903,752 894,908 8,844
SESA Asua SAAEY 4,500 5,000 A 500
206 M= Hl 4,500 5,000 A 500
01 M= 4l 4,500 5,000 A 500
SEEN AHsnE A XM
Z& 4,500,000 4,500 5,000 A 500
sZJl=E2=AYE SEEIe & sS=HO0ILE &4 4,860 5,400 A 540
201 L Er2A | 900 1,000 A 100
01 At 22l bl 900 1,000 A 100
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2 & 900,000& 900 1,000 A 100
301 et d = 3,960 4,400 A 440
09 AL HI B A= 3,960 4,400 AN 440
Osgll=ESAMe SEEIE FAX =4
af 2 & 1,260,000 1,260 1,400 A 140
Osgol st=MolLE #AX obl24
Z& 2,700,000 2,700 3,000 A 300
=24 WSEA X 2 260,510 261,900 A 1,390
201 L Er2 A | 630 700 AT0
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DESAS SHAM S8 IH ATE
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PRS2 SHE 2 576,0008 576 640 £64
02 2zl 11,962 12,272 A310
O1zzez2 % MA 2,800 3,110 A310
>RHER HEE 3 2,160,008 2,160 2,400 £.240
>EINLRES 2% 288,0008 288 320 A32
DRER BASSE 23 108,0008 108 120 A2
>AESHS USIAl 23 171,0002 171 189 A18
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HEBRY 2Y 32,133 33,233 A1,100
201 Lt | 5,400 6.000 £600
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O1 gersgH| 900 1,000 A100
PuEZEPeA 2AXY  ZFF 900,0008 900 1,000 A100
02 2zl 4,500 5,000 A500
O3 AlEZHIR X I 4,500 5,000 A500
>HZEBRA ALFHR
ZH 4,500,0002 4,500 5,000 A500
206 T E H 4,500 5,000 A500
01 HEHI 4,500 5,000 A500
OmZ=pela 29 MEIH X 4,500,000 4,500 5,000 A500
MBS AY 695,000 665,000 30,000
2 347,500 332,500 5,000
Al 347,500 332,500 15,000
101 2124 bl 5,772 19,240 A13,468
2 2,886 9,620 £6,734
Al 2,886 9,620 £6,734
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= 337,500 312,500 25,000
Al 337,500 312,500 25,000
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= 10,000 0 10,000
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ONWEEI mUsSLEE3 82UE=s ANE
30,000,000 * 14! 30,000 30,000
= 15,000 15,000
Al 15,000 0 15,000
ST MZ2II=XA 30,573 33,790 N3,217
=) 9,172 10,137 A 965
Al 21,401 23,653 N2,252
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=) 9,172 10,137 A 965
Al 21,401 23,653 N2,252
02 2I2HCH & A S HI 30,573 33,790 A3,217
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Z & 30,573,000 30,573 33,790 A3,217
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Al 21,401 23,653 N2,252
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Xl 210,000 210,000 0
=) 55,000 55,000 0
Al 312,286 313,760 NT1,474
= 22y 29 4,624 4,924 A 300
206 M= Hl 2,700 3,000 A 300
01 M= 4l 2,700 3,000 A 300
Ot A Al & TP (0LME 2 38)
Z& 2,700,000 2,700 3,000 A 300
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201 L Er2 A | 6,120 6,800 A 680
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01 =4l 4,446 4,940 AN 494
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N =sHELsAY 300,000 300,000
Xl 150,000 150,000
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201 Zer24] 1,500 1,000 500
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Al 750 500 250
01 At 2t 2l 1,500 1,000 500
OlA2td AME ME Z & 1,500,000& 1,500 1,000 500
Xl 750 500 250
Al 750 500 250
206 M= Hl 1,500 0 1,500
Xl 750 0 750
Al 750 0 750
01 MHZ 4l 1,500 0 1,500
OBAES ZHHANE WERY
1,500,000 * 1Al 1,500 0 1,500
Xl 750 0 750
Al 750 0 750
301 et a sz 0 2,000 A 2,000
Xl 0 1,000 21,000
Al 0 1,000 A 1,000
09 &AL HIZB &S 0 2,000 A 2,000
ONYssHs2Y 24 2 o2y
23 0¥ 0 2,000 A 2,000
Xl 0 1,000 A 1,000
Al 0 1,000 A 1,000
HEEE MBsY J=E25 502,386 510,924 A 8,538
= 2,570 0 2,570
J| 2,000 2,000 0
Al 497,816 508,924 A 11,108
ELTETEY 29 45,021 47,553 A2,532
201 et 7,758 8,620 A 862
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O1 get==&H| 3,330 3,700 A370
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03 Al ot 2l 13,680 15,200 A1,520
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NSHUZS HER NSRS 54 AlY 1,800 2,000 A200
206 T 2 | 1,800 2,000 A200
01 M2 bl 1,800 2,000 A200
OMBA UZE8 EX NSNS ZAAY
ZE 1,800,0002 1,800 2,000 A200
SE0IMS YN MAAL S 345,017 351,993 £6,976
201 2yt | 76,284 84,760 £8,476
01 Ak 22l 4,248 4,720 A4T2
O1 ger4gty| 3,240 3,600 360
>RE0ME 28 % E2NE MY
ZE 1,800,0008 1,800 2,000 A200
>RES0MSHY 2SS
HE 1,440,0002 1,440 1,600 A 160
04 T =4l 1,008 1,120 A2
>RSOMS IR o HHSME II=
A 1,008,0002 1,008 1,120 A2
02 2zl 72,036 80,040 £8,004
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201 Let24E] 4,320 4,800 A 480
02 =224l 4,320 4,800 A 480
O2 A& & Hls X bl 4,320 4,800 A 480
DsiMStEdEAA AIEEH |
33 4,320,000& 4,320 4,800 A 480
206 = Hl 1,080 1,200 A 120
01 MHZ 4l 1,080 1,200 A 120
OstsAddEH42E e
Z 3 1,080,000& 1,080 1,200 A 120
HZ=2EY0lE &z 3 AT Al 1,800 2,000 A 200
206 = Hl 1,800 2,000 A 200
01 MHZ 8l 1,800 2,000 A 200
OHZ=Eg0oE 2 il
Z & 1,800,000 1,800 2,000 2200
FE0M=SEE =S SollLH AY 3,240 3,600 A 360
206 M= Hl 3,240 3,600 A 360
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ANERR 2&d S8 SMAE 2,160 2,400 A 240
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201 ¢et24l 34,200 38,000 A 3,800
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PRSYEAL AEE Y T DY
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02 2324l 33,948 37,720 AN3,772
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